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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

\…ˆ„GÁ_ ( Geography ) 
 ( aä] Yy f %UÔÍX◊TˆEı EıÁ^ÔÁ[˝_›Ã[˝ \…ˆ„GÁ_ ) 

(7th Paper : Geography of Economic Activities) 
a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 50 
Time : 2 Hours Full Marks : 50 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 

1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 

 (Eı) L◊] [˝Ó[˝c˜ÁÃ[˝ EıÁ„Eı [˝„_ ? A_.◊Qˆ.∫RÙOÁ„+Ã[˝ L◊] 
[˝Ó[˝c˜Á„Ã[˝Ã[˝ ]…_ X›◊Tˆm◊_Ã[˝ ◊[˝ÿô ˆTˆ ◊[˝[˝Ã[˝S ◊VX* 

 (F) ◊X◊[˝QÕˆ L›◊[˝EıÁ◊\ˆ◊w¯Eı E ı◊bÃ[˝ mÃ[˝”±ºˆY…SÔ È[˝◊`rÙÓm◊_ 
=YÿöˆÁYX EıÃ[˝”X* Y ◊U[˝›Ã[˝ ÂEıÁXÀ ÂEıÁXÀ ÿö̂ Á„X Ac˜O 
LÁTˆ›Ã^ E ı◊b[˝Ó[˝ÿöˆÁÃ[˝ Y“ªJÙ_X %Á‰ªK˜ ? 

 (G) %Á„]VÁ[˝Á„V [˝ÿóˆ◊`„îÃ[˝ ÂEı≥V–›\ˆ[˝„XÃ[˝ EıÁÃ[˝Sm◊_Ã[˝ 
◊[˝`V ◊[˝[˝Ã[˝S ◊VX* \ˆÁÃ[˝Tˆ›Ã^ T«ˆ_Á-[˝ÿó̂  ◊`„îÃ[˝ [˝Tˆ¤]ÁX 
a]aÓÁ Eı› Eı› ? 

 (H) ªJÙ›„XÃ[˝ Â_Ïc˜-c˜O&ÁTˆ ◊`„îÃ[˝ %[˝ÿöˆÁX ◊X„V¤` EıÃ[˝”X* 
ªJÙ›„XÃ[˝ Â_Ïc˜-c Õ&ÁTˆ ◊`„îÃ[˝ =~◊TˆÃ[˝ EıÁÃ[˝S %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

◊[˝\ˆÁG - F 
2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 

(Eı) ÿö̂ ÁXÁ‹ôˆÃ[˝ E ı◊bÃ[˝ È[˝◊`rÙÓm◊_ =VÁc Ã̃[˝Sac˜ %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

(F) "Theory of Location of Industry" G–‹öˆ◊ªRÙOÃ[˝ 
Ã[˝ªJÙ◊Ã^TˆÁ ÂEı ? Ac Õ ]„Qˆ„_Ã[˝ %X«]ÁXm◊_ =‰{F 
EıÃ[˝”X* 

(G) GÓÁ„aÁ◊_X ◊Eı ? AÃ[˝ [˝Ó[˝c˜ÁÃ[˝m◊_ ◊Eı ◊Eı ? 
(H) ◊`î„l˘‰yÃ[˝ %[˝ÿöˆÁ„X a[˝ÔÁ◊W˝Eı ]«XÁZıÁ◊\ˆ◊w¯Eı Yà˘◊TˆÃ[˝ 

mÃ[˝”±ºˆ ◊Eı ? 
(I¯) LÁYÁ„XÃ[˝ [˝ÿóˆ◊`‰îÃ[˝ ◊[˝[˝Tˆ¤X ae„l˘„Y ◊[˝[˝ Tˆ EıÃ[˝”X* 
(ªªJÙ˜) ßG_› ◊`îÁá˚„_Ã[˝ YÁªRÙO◊`„îÃ[˝ [˝Tˆ¤]ÁX a]aÓÁm◊_ ◊Eı 

◊Eı ? 
◊[˝\ˆÁG - G 

3* Â^ ÂEıÁX ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 
(Eı) X…ÓXTˆ] [˝ÓÃ^ V ◊rÙ\ˆÜ› [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 
(F) ÂEıÁXÀ XGÃ[˝›„Eı "ªJÙ›„XÃ[˝ ]ÓÁ„á˚∫RÙOÁÃ[˝' [˝_Á c Ã̃^ A[˝e  

ÂEıX ? 
(G) [˝„∂ëˆ c˜Ác Õ-AÃ[˝ %[˝ÿöˆÁX ◊X„V¤` EıÃ[˝”X* 
(H) ◊TˆX◊ªRÙO [˝Á◊GªJÙÁ E ı◊bV–„[˝ÓÃ[˝ XÁ] ◊_F«X* 
(I¯) %[˝ÿöˆÁXGTˆ ◊≈y\«ˆL ◊Eı ? 
(ªJÙ) %UÔÍX◊TˆEı FÁLXÁ (Economic rent) EıÁ„Eı [˝„_ ? 
(ªK˜) 'Freight Equalization Policy' ◊Eı ? 
(ªLÙ) \ˆÁÃ[˝„TˆÃ[˝ ◊TˆX◊ªRÙO Y“W˝ÁX ÈTˆ_ Â`ÁW˝XÁGÁ„Ã[˝Ã[˝ XÁ] ◊_F«X* 
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Group – A 

1. Answer any two of the following questions : 

  10 × 2 = 20 

 a) What do you mean by Land utilization ? 
Describe in detail the basic principles of 
Land utilization proposed by L.D. Stamp. 

 b) Bring out the salient features of intensive 
subsistence farming. In which parts of the 
world such farming is in practice ? 

 c) Describe, in detail, the factors responsible 
for localization of cotton-textile industry in 
Ahmedabad. What are the present 
problems of Indian cotton-textile industry ?   

 d) Identify the location of iron and steel 
industry in China. Highlight the factors for 
the development of iron and steel industry 
of China. 

Group – B 

2. Answer any three of the following questions : 

   6 × 3 = 18 

 a) Discuss the characteristics of shifting 
cultivation with examples.  

 b) Who is the author of the book "Theory of 

Location of Industry" ? Mention the 

assumptions followed in this model. 

 c) What is gasoline ? What are its uses ? 

 d) What is the importance of profit 

maximization approach in industrial 

location ? 

 e) Describe, in brief, the evolution of cotton 

textile industry in Japan. 

 f) What are the present problems of Jute 

industry in Hugli Industrial Region ? 

Group – C  

3. Answer any four of the following questions : 

   3 × 4 = 12 

 a) What is meant by least cost approach ? 

 b) Which city is known as 'Manchester of 

China' and why ? 

 c) Mention the location of Bombay High. 

 d) Name three plantation crops. 

 e) What is Locational Triangle ? 

 f) What is Economic rent ? 

 g) What is 'Freight Equalization policy' ? 

 h) Name three major oil refining centres of 
India. 

     


